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rrrcf : 35 20 30 15 25 40
fubrr-0ft{ d ffi, 65 87 45 35 15 45

(2)

fu) i-{d,fW fr-dqs B IB, tqr uqB e E6 6(.e fod-s ta sr fu e eu.d:s.fr di=km ilre. a
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G. o.a-t:d H.ys ffd )?r+rgd e. V{S r,Eo * t ?

7. Bft-a$ tffi * A ?

8. a'S6t gdg.rr l?lEl.rrg d t ?
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2,40,000

37,000

14,500

19,000

23,500

750
300

€rep2fl afrlts 2012 IrJ 20L5
A 345 ?7fi
B 310 340
C 415 460
D 380 420
E 240 27A
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6

1

9r{I : 0-10 t0-20 20-30 30-40 40-50 50-60

feFEryrsqth{i d fstu$ : t2 10 20 22 18 t2
frT

t6 ffi )ffi),li 5 aryo-rfursfir* d frq1 a=s xfo.frfu us Ei.'
A6A: 1 2 3 4 5 6 7 8 9. 10

fidfurfra: 65, 87 72 66 49 57 6.4 68 74 78

rffi ffi )fl-d 80 47 7A 57 64 76 "70 47 63 46
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(viii) wra : I vw i. 18 I 20 oo rrgttfi fuqw qLd 6tt sa6 yfi 6 ,iq w An, i*Dr sw
3-5 qql # ffir

(ix) qto"rd d ,ryvn fu qa( t

(x) sfttrPr rtqq (Calculator) qr vdrr qrt +1 wrar t tqfretrrfr strsr qo1z5 qfiar qaq f A#r efi tew\
rar gvt 0 dli, d tgqfr qfr dfi r

qFI-S'

ExITs sS d ......."......... slT,il fr d-cor t r I
$6-flq-qfrr*Xer+1 wrfuE?
(i) -1 elk 1 (ii) -3 etr I (iii) _1 t3rt O (ry) 0 dk I 1

qrqr fi{d rr Uq *q,.ilTE ryr t ? 1

ss qq .Fr ilq qf,rst, Frt sTrrdr q{ aftqq + qr.q-q + Rrq dmr frqr qril t r

1. (+)

(q)

(q)

(q)

(*)

(i) qTg (ii) Ho (iii) sr (iv) iffit 1
qR 

Eqq Fsta qr {rq, Eeq ':rmm * 5,w fr qfys & n} tqr * qrrin q}E d q-dr qrdr tr(i) qfrqn (ii) {iw q (iii) €i-g{q
qFI-EI

(iv) sTfiilfr I

2. qmq sflH( +t frrM qorefr 
r

3. +fr + frqqnF3qis fr Er}rm( qilst 
r

4. qp+-etufrffiRGr
5. T6-$q-rsi ottr q-ftwqr t wr er<-r t ?

6. ER *{rq qw fr etFrc{ mr qqfrq nqre wr B Z ,

7. gfrgitMwrBt
8. ftr{ft ffidilr sTgqm ryr B i

gTFT{

9. FrqFrk( erihEi fr qTfk.-sr sro +-t :

10. Rqfrkd gitmgi t ffi-d M;q fr EfB fr Aq{flT g"rio ffi :

NIFT : 10 20 30 40 50 60 70
rq$ fr fiqr : 25 55 85 65 40 20 10

11. Frqftkd ffi fr vro qi$rn Efq €ttr drc wgum fr rro oTtffi Ei\ ffi W+o si6 Hrd st :

qE frqa 2Ol2 dTd 2015

A 345 370
B 310 34A

C 415 460
D 380 420

E 240 270
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oF5" : 35 20 30 15 25 40
MSql fr {qr 
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65 87 45 35 15 45
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Frqfrkd @ fr ffiqqr{ qfr+-{ul Y fr x * uq{ ffir( r

x 8 4107 6

Y12101486
13. ffiEd eliosl * ernnt qq rPrfl 6t :

(s) qmn {e qr Ef, rr$q setq

(q) qMR Ts rr gs r$q setq
(i) Frm wqq *g =
(ii) Trdrfr sq*'r qd =
(iii) gf, {fr Frqt"r =
(iv) Hqi(
(v)ffi=
(vi) E?qil t Uq tFFT sTIiT =
(vii) €rs (Depreciation) =

14. etfid E{d ffi wr B i m* qf{d qrqr +,t r

15. g*r * Effin sd Rrd I

16. E-dlfliq-s et{ fu-trffims q{ q wr ar,fl-r t I
17. Urdtr eiq + eNgil{ + +{ m{i + dq-#{ t ei'r B t

c{trl{

18. FrqRe( qfu-$J fr qqrq h-tffi{ 'xtt oilflil mra st 
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qA sr qq-e ,nTr t ? Erwc stEr qq sd + frq dq-d{ A ilffi B ?

FrqRer $ry} t ffirr ett fuqR +r q-*+ ei+ am qt :

qqq sITeIR q{ alq e{

frTd N +lrd Xcq

A
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D

t2
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15

l4

72
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84

t4
16
18
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84
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qrqfc+ fu wr t ? ffi *-d str qrqrR"d fu fr qr aqf,( B ? wrsE ffiqt
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nlll :,' ,-.. c-19. Jo,-,?Q* .2930 '3q.-_.40 4O-50, 50-60

ftsfiffiiff'"ffi@f 1 t2 t0 2A 22 18 t2
gIstql

Fmfre( qiqrgl fr srdMq fr Efq HRI ffi.sq41 arc ot'
toi., 1 2 3 4 5 6 7 8 9 10

ffifrtt'q: 65 87 72 66 49 57 64 68 74 78
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(6)

(English Version)

Note : (i) You must write the subject-code/paper-code

page of your answer-book.

(ii) Make sure that the answer-book contains 3A

properly serialed as soon as you receive it.

(i) Unfavourable (ii) InBalance

Section-B

Explain the characteristics of arithmetic mean.

143lCr$S

!

l43lc in thebax,provide.d on the title

pages (including""title page) and are

],';:

having 5 parts of one Wrk each. Answer

(iii) Favourable (1v) Imbalance 1

. 
4,

(iii) Question/s attempted afier'leaving blank page/s in the'answer-boolc'wa$ld not be

evaluated. l,
' .. 4r.-,. . Ci,(iv) Question paper has been divided into 4 parts. Section-A, Secfu-B, Seciffi on4

Section-D.
(v) Section-A :t will consist of question no. 7

should be.in l-15 words.

,.

The use of non progranxmable simple calculator is allowed. Thcstudent should LryroS

(vi) Section-B : will cmtqist of question *a. 2 to I of two marks each. Answer slwuld be,in
5 to l0 lines.

(vii) Sectioq-C- :wilt cons,il,l.Ofq4.gilj-of no. 9 to n. Eachluestion ca:rries 4 marles.hnswer

should be in 15-20 lines. Attempt any 7 questions from this section. 
:

(viii) Section-D : wilt consist of question no. 18 to 20 having internal ctwice.'fuch qteaiwt

(ix),

(x)

their own calculator in the ewtination halt. No boryo;wiai wil,l b*;p,qrmified
-i:' 

1--" 
t to:' --

1. (a) 'Deciles divide the series into.............."..parts.

(b) Vfhat are the limits of r in corr.slation ? '

(i) -1 and 1 (ii) -3 and 3 (iii) -t and'O

(c) What is net domestic product at market price ?

(d) Name the thing which is generally accepted as medium of exchange.

(iv) 0 and I

(i) Metatr (ii) Petrol (iii) Money (iv) Paper

(e) If the value of visible exports are more than visible irnport, theirbalance of trade is called

I
1

2

2

2

2.

3.

4.

Explain the characteristics of coefficient of skewness as given by Cayley.

Write the limitations of index number.

.:n 4

br
pa

pe
r.c

om

br
pa

pe
r.c

om

https://brpaper.com


(7)

5. What is difference between correlation and regres"sion ?

6. What is circular flow of income in four sector model ?

7. What is disguised unernployment ?

8. What is statutory liquidity ratio ?

Section-C

Calculate median from the following data.

Marks: 35 20 30 15 25 4A

No. of students : 65 87 45 35 15 45

ffiikewnessbyKarl-Pearson,Smethodfromthifol{owingdata:
Income: 10 20 30 40 50 60 70

No. of labodrers: 25 55 85 40 2A 1g

2

2

2

2

4

9.

I0.

11.

-'ji1:i;B

Calcu index number by pimple aggregative methgd and siriiple avefage of pr,ice relative
:r'1

Find regression equation Y on X from the following data.

..",Xx 8 4 10 7.r 6' i?
Y tZ 10 14r:8 6

Calculate from the following data:

(a) Gross national product at market price

(b) Net national product at market price

(0 Pgivate consumption expenditure

,(ii) Govt. collqlmptio-n expenditure

(iii) Gross capital formation

(iv) Exports

(v) Imports

(vi) Net factor income from abroad

(vii) Depreciation

.*
r-.i I l

= 2,40,000

= 37,000

= 14,500

= 19,000

= 23,500
.7<n
IJv

= 300

fftxnorcr

4

4

It.

13.
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(8)

14' what is average propensity to save ? Exprain with diagram

15. Explain the contingency function of money.

16' what is difference between developmental and non developmental expenditure ?

17 ' what are the methods to rectify the disequilibrium of balance of payment ?

Section-D
18. Calculate sfenrlard rlarriori^- ^-,{ *^^.^ l-^-^^ tt . ra

adon from the fOnow#pOata.

19. How will you measure nationar income by expendifi,e method ?

or

or
what is commercial bank ? what is difference between central bank and commercial bank ?Explain. 

6

4

4

4

4

6

6

Section-D
calculate standard deviation and mean from the folrowing data.

Roll no. : I 2 3 4 5 6 7 8 9 r0
Marks in Hindi : 65 87 72 66 49 57 64 68 74 78
Marks in Punjabi : 80 47 70 57 64 76 70 47 63 46

what is deficit budget ? what are the measures to reduce the budget deficit ?

calculate index number by Laspeyres and Fisher method from the following data.
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